28-7-2018

< 5. NK Junior Moto Racing, Berghem-KNMV > Junior A - K...

QUALIFY Kwalificatie 2, 5. NK Junior Moto Racing, Berghem-KNMV, KNMV Sport, Netherlands - Official Event Results, MYLAPS Speedhive

Kwalificatie 2

Bike @Berghem(Netherlands)+28 July 2018by KNMV Sport

Length 0.0000 km

Best Lap No. 9 (00:42.137)

Best Speed 0 km/h

By Competitor Owen van Trigt

Pos Competitor Diff Laps Best Lap Best Lap Best Speed

1 20 Owen van Trigt 0.000 10 42137 9 0 km/h
2 36 Jurrien van Crugten 0.705 12 42.842 10 0 km/h
3 5 TomKuil 0.885 12 43.022 10 0 km/h
4 35 Ties Klem 1.027 10 43.164 9 0 km/h
5 95 Guy Mirer 1.335 9 43.472 8 0 km/h
6 44 Deanvan Zeeland 1.775 11 43.912 9 0 km/h
7 34 Julian van Kalkeren 2.002 11 44139 11 0 km/h
8 31 Delano Greven 2.863 12 45.000 11 0 km/h
9 21 Dean Gouw 2.952 12 45.089 9 0 km/h
10 51 Shayden Rodgers 3.523 10 45.660 10 0 km/h
11 29 Joey Wessels 4.224 1 46.361 11 0 km/h
12 19 Lars Weissensee 5.098 10 47.235 6 0 km/h
13 8 Jahmairo Williams 6.062 11 48.199 7 0 km/h
14 43 Daniel Wouda 6.248 11 48.385 7 0 km/h
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